50 pa3 cknagbiBaemM nononam
raseTHbi Inct=0.1 mm

HECKONbKO OECATKOB CAHTUMETPOB
0.1*2250Mm=0.1*(2*10)*5=0.1%(1024)*5=
=0.1*(1000)*5=0.1*(1073)*5=10*"4 mm=
=103 cm=10*11 m=10"8 km=100 000 000 km
paccToaHue oT 3emnun oo BeHepbl

no ConHua 150 000 000 km
00 J1yHbl 300 000 km

0o kpasa ConHeyHoun cuctembl 10 000 000 000 km

15 000 000 000 km Bosamxepbl 1970 rr
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13epHbIWLKO=1 rpamm

1420 +202+203+ 204+ +2763=
=(2-1)+(212-2)+(2/3-2/2)+(27N4-2/3)+ . +(2764-2163)=
=264 -1

2M64=2/60*274=(2M0)"6*16=16*10"18r=
=16*10715kr=16*10"2T1=
=16 000 000 000 000 TOHH 3epHa

2763




